FHIOEFEBMEBR12AEHRRTP1—ILER(E)

AR [EH” = I8 fis =
11 28| K | BIREFEAR 10:00
12 sl & 2iE (EREREREF. IREHHA) 10:30
EEHES 10:00
6| K
| & | —REM. BEERESHY EF
8| D
9
10| A | FREZEHY 17:00
1K
12| K
13| K =E(—RER) 10:00 ERHFERS
14| & SE(—HREM. BEER) 10:00
15| @
16
1l B FEREZERHER - BEEER 9:00
FEREZERHER - BEEESR 13:30
8l % FEREZERHER - BEEER 9:00
FEREZERHER - BEEER 13:30
19| K | PEREZESHUFEERESTHY 17:00
20| K| PREREZEREER 10:00
21| & | PREREZER (BIEER -F1H-&R) 10:00
22| @)
23 XS54 A
24 REKE
25 K
26| K| BREEZESR 10:00 BIRBER
21| % A2E(FERWRE-EE-FH-RR) 10:30
mEmES 10:00
28| €| (FwAH)

£Hl(12B5H~12H828RH)248[H




